TD / Process Engineering
Specification # 5520-TR-333908
March 24, 2009
Rev. A 

	f
	Fermi National Accelerator Laboratory

Batavia, IL 60510

	LARP LQ Coil Shipping Fixture
Loading & Unloading Traveler


	

	Project # Task #:  «ProjectTaskNo»
	Job #:  «JobNo»

	Released by:  «ReleasedBy»
	Magnet/Device Series:  «Series»

	Date:  «ReleasedDate»
	Scan Pages:

	Prepared by:  M. Whitson, A. Bracero

	Title
	Signature
	Date

	TD/MSD Process Engineer
	Adam Bracero
Adam Bracero / Designee
	3/24/09

	TD/LARP Prod. Supervisor
	Marty Whitson
Marty Whitson / Designee
	3/24/09

	TD/LARP Tooling Engineer
	Nikolai Andreev
Nikolai Andreev / Designee
	3/25/09

	TD/LARP Project Engineer
	Fred Nobrega
Fred Nobrega / Designee
	3/24/09

	TD/LARP Project Manager
	Giorgio Ambrosio
Giorgio Ambrosio / Designee
	3/24/09


Revision Page
	Revision
	Step No.
	Revision Description
	TRR No.
	Date

	None
	N/A
	Initial Release
	2001
	10/21/08

	A
	3.2
	Added step to secure power leads to G-10 stabilizer.
	2029
	3/24/09

	
	3.6
	Added procedure to verify pressure in air pads.
	
	

	
	
	Updated checklist items.
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


Note(s):
Ensure appropriate memos and specific instructions are placed with the traveler before issuing the sub-traveler binder to production.  See Step 3.6
1.0
General Notes
1.1
All steps that require a sign-off shall include the Technician/Inspectors first initial and full last name.

1.2
No erasures or white-out will be permitted to any documentation.  All incorrectly entered data shall be corrected by placing a single line through the error along with an initial and date next to the error before adding the correct data.


1.3
All Discrepancy Reports issued shall be recorded in the left margin next to the applicable 
step.

1.4
Cover the Main Coil Assembly with green Herculite (Fermi stock 1740-0100) when not being serviced or assembled.

2.0
Parts Kit List
No Parts Kit List is required for this Traveler.
3.0
Loading Coils into Shipping Fixture:
3.1 Place the coil(s) on Lifting-Storage Fixture Assembly (MD-461230) onto three V-blocks, one near each end and one in the center.


Technician(s)





Date

3.2 Remove the sixteen 3/8-16 set screws with double nuts and brass ball feet from each storage mandrel.


Technician(s)





Date

3.3 Secure power leads to a G-10 stabilizer connected to mid plane bars.



Technician(s)





Date

3.4 Use two 1.000” x 72.000” lifting straps to lift one coil and storage mandrel assembly.  The straps should be choked around the coil and storage mandrel one 40.5” from the LE of the storage mandrel and the other 103.250” from the LE.  A spread bar should be used to make the lift.


Technician(s)





Date

3.5 Following the same lifting procedure described in 3.3, move the two coils and storage mandrel assemblies to the shipping fixture (BNL P/N 25-1984.01).  Lower and align the twenty thru holes on the cradle with the sixteen 3/8-16 threaded holes in each coil storage mandrel.



Technician(s)





Date

3.6 Loosely install all sixteen 3/8-16 cap screws and then tighten each one for each coil mandrel assembly.



Technician(s)





Date

3.7 Check and adjust, if necessary, the pressure in the air pads supporting the coil shipping fixture.


Technician(s)





Date

3.8 Items to be included in the crate if shipped to BNL:

(Check off box as it is added to the crate. Add additional items in the blanks provided.)
	
	LQ cured coil(s)

	
	(32) 3/8-16 set screws with double nuts and brass ball feet

	
	6 meters NbTi cable for power leads                    reel # _________________

	
	4 x .010” X 4.75” X 42.5” preformed ceramic cloth segments

	
	4 x .005” X 12” X 47.25” mica sheets

	
	2 x .005” X 15.5” X 47.25” mica sheets

	
	

	
	

	
	




Technician(s)





Date

4.0 Removing the Coil from Shipping Fixture
4.1 Unscrew and remove the crate lid.  Unscrew and remove the three 2.000” x 4.000” x 43.500” wooden cross supports.



Technician(s)





Date

4.2 Loosen and remove (32) 3/8-16 mandrel to cradle cap screws.



Technician(s)





Date

4.3 Use two 1.000” x 72.000” lifting straps to lift one coil and storage mandrel one 40.5” from the LE of the storage mandrel and the other 103.250” from the LE.  A spreader bar should be used to make the lift.



Technician(s)





Date

4.4 Lift out the crates and place on three V-blocks.  Install (16) 3/8-16 set screws with double nuts and brass ball feet to the mandrels.



Technician(s)





Date























































































































































































































































































































































































































































































































































































































































































































































LARP LQ Coil Shipping Fixture
Loading & Unloading Traveler

Serial No.:  «SerialNo»-«ReworkID»
Note(s):  «Notes»
Page 2 of 5

